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Multiplication (Vertical) Name:
Solve each problem. Answers
) 488 2 428 3 606 4) 905 )
X 6 x 2 x 9 x 4 '
2.
3.
4.
5 927 6) 122 ) 562 8 517 )
X 6 X 5 X 4 X 6 '
6.
7.
8.
9 929 100 462 11) 357 12) 735 .
x 5 x 3 X 6 X 6 |
10.
11.
12.
3 750 14) 913 15 870 16) 742 s
x 4 x 4 x 5 x 9
14.
15.
16.
1) 201 18 415 19 946 20) 540 .
X 6 X 8 X 6 X 4
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
[ Math ] Wwww.CommonCoreSheets.com 10 11-20{45140(35(30|25|20(15(10|1 5| O




=

Multiplication (Vertical) Name:. Answer Key
Solve each problem. Answers
) 488 2 428 3 606 4) 905 ) 2908
X 6 x 2 x 9 x 4 ' ’
2.928 856 5.454 3,620 ” 856
3 5,454
4. 3,620
5 927 6) 122 ) 562 8 517 i 5 562
X 6 X 5 X 4 X 6 . ’
5,562 610 2.248 3,102 6 610
- 2,248
8 3,102
9 929 19 462 357 12 735 . 4645
x 5 x 3 X 6 X 6 |
4,645 1,386 2.142 4.410 0. 1,386
2,142
2 4,410
18) 750 14 913 15 870 16) 742 s 3,000
x 4 x 4 x 5 x 9
3,000 3,652 4,350 6,678 14, 3,652
15, 4,350
16. 6,678
1) 201 18) 415 19 946 20) 540 o 1.206
X 6 x 8 X 6 X 4
1,206 3,320 5,676 2,160 18, 3,320
19. 5,676
20 2,160
1-10 195(90(85|80| 7570|6560 |55 |50
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C&lj Multiplication (Vertical) Name:

Solve each problem. Answers
2,928 3,102 5,562 4,410
3,620 2,142 856 4,645 1.
2,248 610 5,454 1,386
2.
1) 488 2) 428 3 606 4 905
X §) x 2 X 9 x 4 3,
4.
5.
6.
7.
8.
5 927 6) 122 ) 562 8 517
X 6 X 5 X 4 X 6 9
10.
11.
12.
9 929 100 462 11) 357 12) 735
X 5 X 3 X 6 X 6

M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
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